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No. of Questions : 150

Time : 2 Hours } [ Full Marks : 450

Note : (i} Attempt as many questions as you can. Each question carries 3 (three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

(i) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

1. Who was Charles Darwin ?
(1) A great explorer
(2) A Naturalist
(3} A great economist
(4) An Admiral of the Sea

2. Who discovered for the first time that "Earth moves around the Sun" ?
(1) Newton (2) Galileo
(3) Aristotle (4) Aryabhatt

3. State Governor is :
(1) Appointed by the President of India
(2) By Parliament of India
(3) Elected by the State Legislation

(4) None of the above
P.T.O.
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4. Arrange the following Army ranks :
(1) Colonel, Brigadier, Lieutenant, Captain
(2) Captain, Colonel, Lieutenant, Brigadier
(3) Lieutenant, Captain, Colonel, Brigadier

(4) Lieutenant, Colbnel, Major, Brigadier

5. Age of the Retirement of the Supreme Court Judge is :

(1) 65 (2) 60

(3) 62 (4) Depends on the Law Minister
6. National Library of India is located in :

(1) Mumbai (2) Kolkata

(3) Delhi (4) Chennai

7. Which of the following State has two capitals ?
(1) Punjab
(2) Andhra Pradesh
(3) Jammu & Kashmir
(4) No State has two Capitals in India

8. Take the socially odd politician :

(1) APJ Abdul Kalam (2) Atal Bihari Vajpayee
(3) Manmohan Singh (4) Rahul Gandhi
9. Which is the National Bird of India ?

(1) White Pigeon (2) Hawk
(3) Dove (4) Peacock

10. UNICEF is concerned with :
(1) Helping refugees (2) Helping children
(3) Helping Handicaps (4) Poor Nations

(2)
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Absolute Majority of a Party in Parliament/State Assemnbly means :

(1) Winning all the seats (2) Winning 90% of the seats

(3) Winning half of the seats (4) Winning 2\3rd of the seats
RTE means

(1) Right to Emigrate (2) Regressive treatment of eyes
(3) Right to Education (4) Right to empower women

Lok Sabha Speaker is appointed by :
(1) Minister of Parliamentary Affairs (2) President of India

(3) Chief Justice of India (4) None of the above

Head of the National Knowledge Commission is :
(1) Prime Minister of India

(2) Chairman of the Planning Commission

(3} Chairman of the University Grants Commission
{4) None of the above

The River Ganga does not pass through :

(1) Sri Ganga Nagar (2) Kanpur

{3) Allahabad - (4) Varanasi

A Satellite is :

(1) A bright star (2) Meteoroid

(3) Both of the above (4) None of the above

Major part of the Earth is covered by :

(1) Water

(2) Mountains and Jungles

(3) Human population and Agricultural Land
(4) Is equally divided among the above

(3) P.T.O.
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18. The Award Padma Vibhushan can be given :
(1) Only to a great Politician & Statesman
(2) Only reserved for great Artists and Sportsmen
(3) Only for great Scientists and Educationist
(4) All are eligible

19.  Which of the following countries recently become a Republic ?
(1) Sri Lanka (2) UK
(3) Nepal (4) Bangladesh

20. Take the odd Country out :

(1) China (2) North Korea
(3) Vietnam (4) Russia
21. Who was king of Jammu & Kashmir in 1947 ?
(1) Maharaja Karan Singh (2) Maharaja. Hari Singh
(3) Maharaja Gulab Singh {4) Nawab Shiekh Abdullah

22, Recently which coin the RBI has decided to stop minting :

(1) 25 paise (2} 50 paise

(3) 20 paise (4) None of the above
23. In measurement Yard & Meter are :

(1) Equal in length (2) Meter is longer

(3} Yard is longer (4) Cannot be related

24. Who wrote "Saare Jahan Se Achha Hidustan Hamara......."
(1) Rabinder Nath Tagore (2) Bankim Chander Chatterjee
(3) Dr. Mohammad Igbal (4) Munshi Prem Chand

(4)
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According to latest Census of India the Literacy rate is about :
(1) 65% (2) 75% (3) 45% (4) 85%

Mrs. Annie Besant was .

{1) A politician {2) First lady Governor in India
(3) A Green Pace worker (4) All the above

Gateway of India is :

(1) Mumbai (2) Navi Mumbai

(3) Delhi (4) Amritsar

A Red triangle is a symbol for :

(1) Stop the vehicle (2) Family Planning

(3) Danger zone ahead (4) School ahead, Traffic sign

What is common among them ?

Indira Gandhi, Kiran Bedi,Pratibha Patil Meira Kumari
(1) All are great women politician

(2) All have been first women in their positions

(3) All are Foreign educated

(4) All the above

Dr Montek Singh Ahulwalia is

(1) Chief Advisor to PM (2) With Planning Commission
(3) RBI (4) All the above

Burj Khalifa is :

(1) Tallest building in the world (2) Is an ancient Tomb

(3) Is a Religious monument (4) All the above

(5) P.T.O.
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VATis:

(1) Direct Tax (2) Wealth Tax

(3) Custom Tax (4) Travel Tax

Arranging Monday to Friday in alphabetical order, which is correct :

(1) Monday, Tuesday, Wednesday, Thursday, Friday
(2) Friday, Thursday, Wednesday, Tuesday, Monday
(3) Friday, Monday, Thursday, Tuesday, Wednesday
(4) None of the above |

The University Grants Commission (UGC) is a body :
(1) Which establishes universities in India
(2) Governs the administration of universities

(3) Provides financial support to the universities

(4) All the above

Amritya Sen won the Nobel Prize for :

(1) Literature (2) Peace

(3) Physics (4) Economic

Which is the correct order of the decimal figures in increasing values ?
(1) 0.4,0.315,0.32,0.2555,0.15656 (2) 0.15656,0.2555,0.315,0.32,0.4
(3) 0.2555, 0.15656, 0.315, 0.32, 0.4 (4) None of the above

" A thing of beauty is a joy for ever” was said by :

(1) John Keats (2) William Wordsworth

(3) William Shakespeare (4) Rabinder Nath Tagore

A publisher of a book is who ?

(1) Prints the book (2) Any bookseller

(3) Finances the book (4) Designs the book

(8)
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Square root of 11 is :
(1) 1.21 (2) 3.66 (3) 3.60 (4) 121

If x = - 1the, value of x? +2x+1is:
(1) 4 2) 0 3) 3 4 2

5th September Teacher’s day is celebrated for :

1) Birthday of Pandit Nehru

2) Maulana Azad Kalam, the first education Minister of India
(3) S. Radhakrishnan, First teacher President of India

{(4) None of the above

(D
(2)

Which is the largest storage unit among the following ?
(1} Terabyte (2) Petabyte
(3) Gigabyte (4) Megabyte

Which of following is Not a network device ?
(1) Router (2) CPU (3) Hub (4) Bridge

Which of the following is not a computer language :

(1) PASCAL (2) COBOL (3) JAVA Script  (4) Linux
A standard Key boards include :

(1) 111 Keys (2) 101 keys

(3) 91 keys (4) 121 keys

WAN stands for :

(1) Wide And Narrow (2) Wire Access Network

(3) World And Nation {4) Wide Area Network

Interactive of text, video, graphics and sound is called :
(1) Many media (2) Multi program
(3) Multi media (4) Poly Media

(7) P.T.O.
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48. An error in computer program is called :
(1) Mistake (2) Bug (3) Error {(4) Spam

49. HTIP stands for:
(1) Hypertext transmission protocol (2) Hypertext traditional protocol
(3) Hyperlink transfer point (4) Hyper text transfer protocol.

50. Among the followings which is NOT an input device :

(1) Keyboard ' {2) Monitor
(3) Scanner (4) Trackball
51. WWW stands for:
(1) What and where (2) Weird wide web
(3) World wide wait (4) Word wide web
52. Wi-Fimeans:
(1) Wired fibre (2) Wireless fidelity
(3) Without fibre (4) With fidelity
53. Find the odd one out:
(1) Pen drive (2) Floppy disk
(3) Keyboard (4) CD
54. Messages are transferred in computer network through :
(1) Message Switching (2) Packet Switching
(3) Circuit Switching (4) Multiplexing
55. A secret which is used to prevent access to file system or network is called : -
{1) Account number (2) NetID
(3) Password (4) Firewall
56. The fourth generation computers come with advent of :
(1) Transistors (2) Magnetic course
(3) Chip ' (4) Microprocessor chips

(8)
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A bus moves at the rate of 54 km/h. Its speed in m/sec is :
(1) 10 m/sec (2) 15 m/sec
(3) 20m/sec (4) 25m/sec

Right to equality is a fundamental right that comes under Article
1) 12 @) 13 (3) 14 @) 15

Wheo elects Vice President ?

(1) Prime Minister

(2) Member s of Lok Sabha and Rajya Sabha
(3) President

(4) MPs and State MLAs

Which institution in federal system is called 'Balancing wheel of the
constitution’ ?

(1) Legislature (2} Executive

(3) Judiciary (4) Press

Which of the following is not a constitutional organ ?

(1) Election Commission (2) Finance Comumission
(3) Inter State Council (4) Planning Commission

Which one of the following Governments operate on the principles of
"Collective Responsibility" ?

(1) Presidential (2) Parliamentary
(3) Unitary (4) Federal

Which of the following state first established the Panchayati Raj Institutions in
India ? '

(1) Uttar Pradesh (2) Punjab

(3) Maharashtra (4) Rajasthan

Who among the following was associated with Swaraj Party ?

(1) Dr.Rajendra Prasad (2) Sardar Patel

(3) Moti Lal Nehru (4) Subhash Chander Bose

(9) P.T.O.
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The first women film star nominated or elected to the Rajya Sabha was :

(1) Jayalalitha (2} Nargis Dutt

(3) Vijiyanthimala (4) Hema Malini

Which of the following state does not have Legislative Council ?

(1) Andhra Pradesh (2) Jammu & Kashmir

(3) Punjab (4) Uttar Pradesh

Right To Information Act was passed in the year :

(1) 2006 (2} 2005 (3) 2004 (4) 2003
Who is the chief law officer of Government of India ?

(1) The Chief Justice of India (2) The Registrar of Supreme Court
(3) The Law Minister of India (4) The Attorney General of India
The 'Speaker's Vote' in the Lok Sabha is called :

(1) Direct vote (2) Indirect vote

(3) Casting vote (4) Sound vote

The capital of Mizoram is :

(1) Imphal (2) Kohima (3) Shillong (4) Aizwal
National Voters' Day is :

(1) 25 January (2) 25 February

(3) 25 March (4) 21 April

Among the following which is land-locked state :

(1) Gujarat (2) Orissa

(3) Rajasthan (4) Karnataka

The National tree of India :

(1) Banyan Tree (2) Peepal

(3) Maple (4) Neem

In coal production, India ranks :
(1) 1st (2) 2nd (3) 3rd (4) 4th
(10)
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3,7,22,7,546:

(1) 77 (2) 88 (3) 89 {4) 99
KITE: BIRD as ..... : FISH :

(1) Thread (2) Boy (3) Submarine {(4) Snake
Find the odd one:

{1} Dictate {2} Teach (3} Train {4} Educate

If BEAT is written as ADZS then TRACE is :

(1) USBDF (2) SQZBD (3) SQABD (4) YDZKL
If BEARING is written as 1234567 then RARE is written as :

(1) 1234 (2) 4324 (3) 4342 (4) 4542

Harry travels 16 km to north, turns left and travels 4 ki and then again turns
right to cover another 5 km. He again turns right and travel 4 kms. How far is
he from the starting point ?

(1) 15km (2) 10km {3) 20km {4) 5km
MLK: TSR :: EDC: 2?7

(1) PQS (2) YXW | (3) FGI 4) LTO
Typist: Typewriter :: Writer: 737

(1) Paper (2) Book (3) Pen (4) Script
If ' +' means 'X', '+ means '+, -'means '+ and 'X, means '-, then
20-60+4X3+2=?

(1) 16 (2) 30 (3) 18 {4) 24

D is brother of K, M is sister of K. R is father of D, and S is mother of M. How is
K relatedto R :

(1) Son (2) Daughter
(3) Son or Daughter (4) None of the above

(11) P.T.O.
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What number should replace the question mark in the following table ?

6 | 12 | 7
48 | 96 | 192
(1) 18 (2) 20 (3) 22 @) 24

What should come next in the following letter series ZXVTRPNLJYWUSQO ?
L M 2) N 3) K 4) ]

If the radius of a circle is doubled, its area is increased by ?
(1) 100% (2) 200% (3) 300% (4) 400%

At what time between 4 and 5'0 clock will the hands of watch point in opposite
directions :

(1) 45 mins past 4. (2) 40 mins past 4
(3) 504/11 mins past 4 (4) 546/11 past 4
When he

P-did not know
(Q-He was nervous

R-Heard the hue and cry at midnight

S-What to do

The proper sequence should be :

(1) PQRS (2) RQPS

(3) QSPR {4) None of the above

A name adopted by an author in his writings is :

(1) Nick name (2) Pseudonym

(3) Nomenclature (4) Title

Match the list :

A. Atmosphere i. Inert gases

B. Biosphere ii. Salt, fresh water, snow and ice.
C. Hydrosphere ili. Organic substance, skeleton matters
D. Lithosphere iv.Light silicates

(12)
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A B C D
(1) i it i iv
)i i i iv
3) i i miooiv
@) iii i i v
In which sport the term "Bull's eye" is used
(1) Tennis {2) Goif (3) Chess (4) Shooting

Archery is the national sport of :
(1) Indonesia (2) Bhutan (3) Nepal (4) Bangladesh

Susheel Kumar of India recently became the first Indian to grab gold medal in :
{1) World Wrestling Championship  (2) World Boxing Championship
(3) World Swimming Championship  (4) None of the above

Pankaj Advani is associated with :

(1) Cricket (2) Chess (3) Golf (4) Billiards
The length of day and night is equal throughout the year on :

(1). Tropic of Capricon (2) Tropic of Cancer

(3) Equator _ (4) North Pole

Pomology is the study of :

(1) Crops (2) Vegetables (3) Fruits (4) Trees

Who among the following has been named as UNESCO's National
Ambassador ?

(1) Aishwarya Rai (2) Priyanka Chopra
{3) Shahrukh Khan (4) Sharmila Tagore

Choose the word opposite of Jettison :
(1) Accept {2) Reward {3) Preserve (4) Consent

The near meaning of word Rout' is :
(1) Death (2) Defeat (3) Loss (4) Crash

(13) P.T.O.
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‘Sakshat’ is :
(1) A website (2) A missile
(3) An artificial satellite (4) A railway project.

In banks 'ROA' means :
(1) Rate of Allocation (2) Return of Advances
(3) Return of Assets (4) Ratio of Assets

'BAFTA" award is associated with :

(1) Banking sector (2) Cinema

(3) Insurance sector (4) Tourism

Which of the following country has declared 'Broad-band service as
fundamental right in the country ?

(1) Britain (2) Denmark

(3) Finland (4) USA

Information Technology Act in India was passed in the year :

(1) 2000 (2) 2001 (3) 2002 (4) 2003

The difference between the Indian Standard Time and Greenwich Standard
Time is :

(1) 5 hour 40 mins (2) 6 hours 30 mins

{3) 6hours (4) 5 hours 30 mins

Which one of the following stages of the life of man in Aryan Society, in
ascending order of age is correct ?

(1) Bramacharaya- Grihastha- Vanaprastha- Sanyasa

(2) Grihastha- Bramacharaya- Sanyasa- Vanaprastha

(3) Grihastha- Bramacharaya- Vanaprastha-Sanyasa

(4) Sanyasa- Grihastha- Vanaprastha - Bramacharaya

The subsidiary Alliance system in British India was evolved by :
(1) Warren Hasting (2) Dalhousie
(3) Carn Wails (4) Wellesley

(14)
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109. To which of the following parties did the famous freedom fighter Chandra

Shekhar Azad belonged ?
(1) Indian Socialist Republican Force (2) Azad Hind Force
(3) Indian National Congress (4) Forward Block

110. Who described for the first time, the revolt of 1857 as, "The first war of
Independence” ?

(1) V.D.Savarkar (2) RC.Majumdar
(3) Bipin Chandra (4) Prof. Romila Thapar

111.  Choose the correct pair from the following :
(1) Khajuraho-Chandellas (2} Ellora Caves-Saka
(3) Mahabalipuram- Rashtrakutas (4) Meenakshi Temple- Pallavs

112. Who of the following was the President of Indian National Congress for
consecutive six years ?

(1) Jawahar Lal Nehru (2) Dada Bhai Naoroji

(3) Abul Kalam Azad (4) Gopal Krishan Gokhle
113.  The rupee coins were first minted in India during the rule of :

(1) Shah Jahan (2) East India Company

(3) Sher Shah Suri (4) Razia Begam

114. Who among the following great men is called the father of Indian
Renaissance ?

(1) Vivekanand (2) Raja Ram Mohan Roy
(3) Rabinder Nath Tagore (4) Dayanand Saraswati

115. The 'Pahari School’, 'Rajput School', 'Mughal School' and 'Kangra School’
represent different style of art of :

(1) Architecture (2) Dancing
(3) Music (4) Painting
116. Under which Vice-Roy's tenure Indian National Congress was found ?
(1} Lord Dufferin (2) Lord Ripon
(3) Lord Dalhousie (4) Lord Curzon

(15) P.T.0.
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117. When was the Dandi March undertaken ?

(1) Dec12,1929 (2) March 12,1930

(3) April 5,1930 : (4) May 5,1930
118. Cripps Mission came to India in :

(1) 1928 (2) 1940 (3) 1942 (4) 1945
119. What is correct chronological order of dynasties which invaded India ?

A. Huns B. Kushanas C. Aryans D. Greeks

(1) DCBA (2) CDBA (3) DBCA (4) CDAB
120. Who among the following had the longest tenure as the PM of India ?

(1) Morarjt Desai (2) Charan Singh

(3) V.P.Singh (4) Lal Bahadur Shastri

121. DNArefersto:
(1) Di oxyribo nucleic acid (2) De oxide nucleic acid
(3} Different nucleic acid (4) None of the above

122. Which is the largest state of India in area among the following ?

(1) Rajasthan (2} Madhya Pradesh

(3) Andhra Pradesh (4) Maharashtra
123. What is known as miracle crop ?

(1) Wheat (2) Rice

(3) Soyabean (4) Maize

124. Which chemical is mainly responsible of depletion of ozone layer in
atmosphere ?

(1) Sulphur dioxide (2) Chioro Fluoro Carbons
(3) Carbon dioxide (4) Nitrous oxide

(16)
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Which is the brightest planet of the Solar System ?

(1) Mercury {2) Neptune (3) Mars (4) Venus
Which is the smallest continent among the following ?

(1) Antarctica (2) Europe

(3) Australia (4) South America

Where is Ranthambore National Park located ?

(1) Orissa (2) Karnataka

(3) Rajasthan (4) Kerala

The most populated state of India is : _

(1) Andhra Pradesh (2) Madhya Pradesh

(3) Maharashtra (4) Uttar Pradesh

The famous monument 'Bibi Ka Magbra' is situated in :

(1) Delhi (2) Aurangabad

(3) Agra (4) Faislabad
Nanotechnology deals objects with dimensions in the range of :

1) 107 @ 10712 3) 1076 @) 1073
The instrument used in measuring very high temperatures is

(1) Ammeter (2) Chronometer -

(3) Pyrometer - {4) Barometer

Lexicography relates of :

(1) Study of coins and medals (2) Stamp collection

(3) Study of language (4) Compiling of dictionaries
Heavy water is compound of Deuterium oxide's formula :

(1) D20 (2) DO2 (3) DO (4) D2
Institutes of Ayurvedic Studies and Research is located at :

(1) New Delhi (2) Dehradun

(3) Kanpur (4) Gujarat

(17) P.T.O.



11P/223/26

135.

136.

137.

138.

139.

140.

141.

142.

143.

POTA stands for :
(1) Post Organic Tool Agency (2) Prevention of Temporary Diseases
(3) Prevention of Terrorism Act (4) Power of Telecom Authority

International Peace day is on :
(1) Sept21 (2) Oct21 (3) March 22 (4) Nov 23

The symbol for World Wildlife Fund is :
(1) Bull (2) Tiger (3) RedPanda = (4) Bear

The currency of Russia is :
(1) Euro (2) Mark (3) Prank (4) Rouble

The Headquarter of Asian Development Bank in :
(1) Manila (2) Geneva (3) Paris (4) London

Right to Information in Indiais a

(1) Fundamental Right

(2) Legal Right

(3) Both Fundamental and Legal Right
(4) Neither Fundamental and Legal Right

Which Indian biscuit brand is the single largest selling biscuit in the world in its

segment 7

(1) Tiger _ (2) Good day

(3) Britannia (4) Parle-G

Name of the bowler who took 800 highest wickets in Test Cricket history :
(1) Anil Kumble (2) Shane Warne

(3) Muttiah Murlitharan (4) Harbhajan Singh

Who is known as 'Upanayas Samrat' :

(1) Rabinder Nath Tagore (2) Nagarjun

(3) RK.Narayan (4) Munshi Prem Chand

(18)
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144, Indian Institute of Advance Studies located at :
(1) Hyderabad (2) New Delhi
(3) Shimla (4) Allahbad

145. Which country got first place in Commonwealth games 2010 ?
(1) India (2) Canada (3) Australia (4) England

146. Brain Drain:
(1) Is a disease
(2) Refers to dropouts from educational and technical institutions
(3) Is fruitless expenditure on science & industrial research

(4) Refers to emigration of skilled persons
Study the Pie Chart and answer the following questions

Hockey 15%

= Hockey
Foothall15%
v l Tennis

Tennis 10%
- ® Basketball
Golf

® Cricket

¥ Basketball % Football

12.50%
- Others

Cricket25%
golf 12.50%

147. The ratio of total expenditure on Football to that of expenditure on Hockey is
(1) 1:15 2 11 (3) 151 @ 3:20

(19) P.T.O.
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148. If the total expenditure on sports during the year was 1,20,000,00 how much
was spent on Basketball

(1) 9,50,000 (2) 12,00,000 (3) 10,00,000 (4) 15,00,000
149. OQut of the following which expenditure is the same ?

(1) Hockey & Football (2) Cricket & Football

(3) Hockey & Golf (4) Golf & Cricket

150. Match the following list :
i. 1st Plan - a) Rapid Industrialization
ii. 2nd Plan- b) Community development
iii. 3rd Plan- ¢} Expansion of basic Industries
iv. 4th Plan- d) minimum needs programme
v. 5th Plan — ¢) Achievement of self reliance and growth with étability
(1) i-a, ii-b, iii-c, iv-d, v-e
(2) i-b, ii-a, iii-d, iv-e, v-c
(3) i-b, ii-a, iii-c, iv-d, v-e

(4) ib, ii-a, iii<, iv-e, v-d

(20)
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